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D� %HUGDVDUNDQ�KDVLO�SHQJXMLDQ�LQL�GLGDSDWNDQ�QLODL�NXDW�OHQWXU�SDGD�EHWRQ�IF¶����

03D�GHQJDQ�YDULDVL�VHUXWDQ�EDQ�����VHEHVDU�������03D��YDULDVL�VHUXWDQ�EDQ���

��VHEHVDU�������03D��YDULDVL� VHUXWDQ EDQ������VHEHVDU�������03D��YDULDVL�

VHUXWDQ�EDQ������VHEHVDU�������03D��GDQ�YDULDVL�VHUXWDQ�EDQ������VHEHVDU�
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E� %HUGDVDUNDQ�KDVLO�SHQJXMLDQ�LQL�GLGDSDWNDQ�QLODL�NXDW�OHQWXU�SDGD�EHWRQ� IF¶����

03D�GHQJDQ�YDULDVL�VHUXWDQ�EDQ�����VHEHVDU�������03D��YDULDVL�VHUXWDQ�EDQ���

��VHEHVDU�������03D��YDULDVL� VHUXWDQ�EDQ������VHEHVDU�������03D��YDULDVL�

VHUXWDQ�EDQ������VHEHVDU�������03D��GDQ�YDULDVL�VHUXWDQ�EDQ������VHEHVDU�
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F� %HUGDVDUNDQ�DQDOLVLV�NXDW� OHQWXU�WHUKDGDS�EHWRQ�PXWX� IF¶����03D�GDQ� IF¶����

03D�GDSDW�GLNDWDNDQ�EDKZD�SHQJJXQDDQ�VHUXWDQ�EDQ�VHEDJDL�SHQJJDQWL�DJUHJDW�

KDOXV� GDSDW� GLJXQDNDQ� VHEDJDL� SHQJJDQWL� DJUHJDW� KDOXV�� QDPXQ�SHQJJXQDDQ�

VHUXWDQ EDQ� VHEDJDL�SHQJJDQWL� DJUHJDW�KDOXV� OHELK�EDLN� MLND�GLJXQDNDQ�SDGD�

EHWRQ�PXWX�IF¶����03D�GHQJDQ�YDULDVL�VHUXWDQ EDQ�VHEDQ\DN�����
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$GDSXQ�VDUDQ�\DQJ�GDSDW�GLVDPSDLNDQ�XQWXN�SHQHOLWLDQ�VHODQMXWQ\D��DQWDUD�ODLQ�

D� 3HUOX�GLODNXNDQ�NDMLDQ� ODQMXWDQ�PHQJJXQNDQ�YDULDVL� FDPSXUDQ� VHUXWDQ NDUHW�

EDQ�GHQJDQ�MXPODK�YDULDVL�NDGDU�\DQJ�EHUEHGD�

E� %HQGD�XML�\DQJ�GLJXQDNDQ�PHPLOLNL�VDPSHO�OHELK�GDUL�VDWX�EHQGD�XML�

F� 3HUOX�GLODNXNDQ�DQDOLVLV�PHQJJXQDNDQ�EHWRQ�PXWX�WLQJJL�GHQJDQ�IF¶�ODLQQ\D�

G� 0HODNXNDQ�SHQDPEDKDQ�YDULDVL�XPXU�EHWRQ�

H� 0HQJJXQDNDQ�PHWRGH�SHQJXMLDQ�OHQWXU�GHQJDQ�SHPEHEDQDQ�GXD�WLWLN�
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I� 3DGD�SHQHOLWLDQ�LQL�EHWRQ�PHQJJXQDNDQ�YDULDVL�FDPSXUDQ�VHUXWDQ�NDUHW�EDQ�GDUL

EHUDW� DJUHJDW� KDOXV�� 3HQJJDQWLDQ� DJUHJDW� KDOXV� VHKDUXVQ\D� PHQJJXQDNDQ�

SUHVHQWDVH�NDGDU�GDUL�YROXPH�\DQJ�GLJXQDNDQ�


